v 7‘ q.:!
9
0 O 3rl 4,:25107%
q,-, ‘4 } qri »3%!0
O \l/ WS ~;>r\o“’<.
%3
& o > D
Irm
tRD N \‘giw
E ?\Q:?
prd
K{:?Q
RN = -
Q&\-:l\;()wbw\ N 34 A+ EL&.\;O
, Nz
Fyl s Kapge  @s07 N5 )3 12107 (Gl Q)
_ (Q - /;\‘n;\ﬁ
D ~ \
e
- 6

522 0410 N

I Sm
w_lgmé- .
TN

o= 364’




4

N )
\gaw&»w N

_G_Q ' O-16.a°

}\-\-{ Q% 64 *lo N) Cos 3. O\
Bax 1=06. al x10™>N)

¥),uw- (264 v ~)N )L S:V\Bgﬁ\)

v_r}.{_’, - 514 5107 N

s
. A — NN/ \
ARz Koyaq (A0 N (32107 A dr107C)
_-l... \* - [ N2
!/ &-’;"I
Loy - \18 » 3%
»
P!
5 y
_ 3 T O
LEo )= R.6a 107N =
- (26url0 N)wdm deng: ¥
-~ =AY 07N )
H=36.9°

E, J\,-(m (4 0 st.wé 3.9

Fayz =5 19 BN




U\Sr\v\} E&,\:\; 6”"‘"\ Low(l{uuh:

A oy B v hay 20
J AR J ~7 T

:2'« Bg-f‘ b EL\-:{\ v E‘J-x =0

“6. A0 N = 6.91 1107 3+ Fype = O

F\u&: ‘~3X*'O‘A N

b
BNY lJ’?\.}f\

¥
D
&

= -+ ,;)‘J‘r
= |}

BN ‘ 5
) A
C

- F\w = 1.3% ’-([(‘)AQN P

= 3 ’ =¥ \/ \v)

a, = Fulley) (132 #1007 N ) 6m)

< ;
W - [nl “.0\‘Mw~}/\/’7‘ l:—\\é/’\
Ngu N R ARG AN ~J

a.: 23651070 ¢
<5t

_S}k(& F\t{ “Qo'(t«*&g ;b\ \-L’\ \)05 | T[ Vé ’)? J:‘r qT; W’V’r’}
be V\ec\c}’ﬂ/? . —_ —1 )
g )

g,:—2.16+ 10 CJ{ ®_

¥




